Pool fittings

Certikin Skimmers

CX-Hose

r-a HD102LN &
) HD102 Body

HD100SN

— o

e - e W _.__:'-—‘-‘_:-..,.-'

210mm | )| TSI = = aaly
RS Y
31

l. !
! 160 ] |
7

JlL T

—
[~
b

HD101LS e

12 S
S N

HD100LAK

01.05.08




Product Information Manufacturers| ltem | Certikin Product Description Price €
Code No: | Code
Certikin Skimmer (HD100N & HD100SN)
1 required SPC406/10 Lid Screw M6 x 12mm - pack of 10 2153
1 required 1 SPC402 Lid 22.04
1 required 2 SPC403 Lid Frame 24,06
1 required SPHD100 Skimmer Lid & Screw Set {Inc Lid & Screws) SMPL
1 required SPC4032 2" Lid Frame Extension & Frame - Pre Glued 43.47
1 required SPC4031 2" Lid Frame Extension Only 12.10
2 required SPC455/INS M6 Lid Frame Inserts 0.38
1 required SPC415 Key Hole Flap 209
1 required SPC416/10 Key Hole Flap Screws - pack of 10 1.36
1 required 6 HDSM 50mm Metric Slip Plug 420
1 required SPC423 Flap Weir 12.25
1 required 3 SPC446 Floating Collar Weir 10.82
1 required 4 SPC447 Float Guide 9.78
1 required 5 SPCA24 Flap & Collar Basket Assembly 16.00
3 required SPC404 Collar Weir Clips 0.67
Wide Angle Extension Throats
(HD101LS & HD101CS)
1 required SPC436 WAET Concrete Cover Plate - {435mm x 220mm) 14.66
1 required 13 SPC432 WAET Liner Cover Plate - (425mm x 195mm) 10.88
1 required 14 SPC434S WAET Liner Flange Cover 13.57
1 required 15 SPC435SN WAET Liner Flange Gasket 142
1 required SPC405P/25 Screw - No:12 x 7/8" - pack of 25 374
1 required SPC428/10 WAET Holding Screws - pack of 10 3.62
1 required SPC429/10 WAET Holding Nut - pack of 10 414
1 required SPHD101L WAET Liner Kit {Inc Face Plate, Flange,
Gasket & Screws) SMPL
Parallel Extension Throat
(HD100LAK & HD102LN)
1 required 7 SPC418N Liner Backing U Bracket - Panel Pools 11.01
1 required 8 SPC420N 2 Part Liner Front Plate 8.96
1 required 9 SPC426 Parallel Throat Liner Gasket 1.76
1 required 10 SPC419N 1 Part Parallel Throat Liner Face Plate 1
1 required 12 SPC405P/25 Screw - No:12 x 7/8” - pack of 25 374
Parallel Extension Throat (Old Type)
SPCa21 0ld Parallel Throat Liner Flange Gasket 3.65
SPC420 0ld Parallel Throat Liner Face Plate 10.88
SPC422P/25 S/S Fitting Screw - No:10 x 1" - pack of 25 358
SPHD102 0ld Type Parallel Throat Liner Kit
(Inc Face Plate, Gasket & Screws) SMPL
Kornea
16 SPC440 Kornea Gasket Old Type - While Stocks last 3.39

The above prices are exclusive of delivery and VAT m

01.05.08




